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~ ¢ Answer all questions.

o FEach question carries two marks.

01) « How many symmetrical axes are there in the following

figure.

€
02) Capacity of a table spoon is 5ml. It is decided to give two table spoons three times per

day.What is the amount of medicine needed?

ad

by
$/

»

03) Write in index form,

3x3xax3x3

04) An example for a static angle which the arms are not static 1s an,

. -

(aj Angle between the edges of a cover of a book.

(b) Angle between the sporks of a bicyclé.

(c) Angle between the hour hand and minute band.
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- 05) If the number 25‘: 8 is divisible by six, write down two suitable digits for the tenth place. , R
A
Y,
mfvﬁ '
.
06) Simplify. Years Months Days -
8 5 12
- 2 10 24
¥
y
™
.07) Write down the algebraic term and the coefficient of the algebraic expression.
“ 6x-3
algebraic term |
coefficient of the algebraic term
[
¢
08) Simplity. g mg
4 25
c,' . X 6
22
09) Give 5 as amixed number
r - -
4 .
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11) Name the following triangle.

(1) according O SIAES rvvrnnerernsusenesnanssarsonssnsnssssssassnessssssoes

(1) according to angles .......cooviiiiiiiii e e e

*

12) A piece of length 1 m 25¢m 1s cut off from a rope with the length of 50m. Find out the length

of the remaining piece of the rope.

9

o
' 13) Simplity. 4a-5=7
7cm

14), Find the area of the figure.

, 3 cm
7 cm -
. 3cm
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- 15) Birthday of a person is 1900.06.02
A L
(1) Which century his birthday belongs?

(1) Is it a leap year?

16) Find the value.
(i) 2.48 x 6 (ii) 37.3+10

a
&
17) 2.25 1 of water and 750 ml of fruit juice was mixed to prepare a soft drink. What is the
amount of one glass if the soft drink is divided into 15 glasses equally in militres?
»
3
18) TIs arhombus a regular polygon? Give reasons.
3 .
e
19) What is the smallest number which is divisible by 15, 18 and 24.
20) According to the given figures.
How many such small boxes can be packed inside the large box. (maximum number of
’ boxes) | -
/ /L
r Jﬂ 15cm 2cm
‘ L/2cm
/ 10cm 2cm
L 20cm ‘
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Part - 11

e Answer question number one and four others.
(16 marks for question (1) and 11 marks for the each of the other questions.)

& 1) (i) Recall the lesson _bout the rectilinear plane figures. What is the type of the assessment

given by your mathematics teacher regarding the above lesson? (1 mark)

-

(ii) List out occasions where you can see the following parallel lines in the environment.

] (a) Horizontal parallel lines
A (b)  Vertical parallel lines
’ ()  Slant parallel line
= ‘ (3 marks)
(iii) According to the figure drawnﬁ above, name, A - .
(a) A pair of horizontal parallel lines AN A
‘ (b) A pari of vertical parallellines G
() A pair of slant parallellines
(d) A parallelografh
(e) Adrapezium :
’ (5 marks)
‘. (iv)
"
(a) How'many circles are there in the above figure? (1 mark)
- (b)  What s the centre of the circle with the diameter AC? (1 mark)
f (c)  What is the radius of the circle with the centre A. (1 mark)
(d) What is the diameter of the circle with the radius C. (1 mark)
r.- (e)  Complete the blanks.
AB radius = TP radius (1 mark)
- XB  diameter = rrereenennas diameter (1 mark)
. AC diameter = ivieresenenes ‘radius +  wievee......tadius (1 mark)
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02) (i) "Multiply x by 2 and subtract three". Build an algebraic expression for the above

statement. (1 mark)
(ii) Give the algebraic expression —i—-+ 1 in words ' (2 marks)
. (iii) Simplity.
(a) 2a-a+8-6
(b) 4x+5y-3-2x-2y (2 x 2 = 4 marks)
(iv) Ifx=5 , y=2 findthe value
(a) 2x-3y-3 _
(b) 2y+3x-8 (2 x 2 = 4 marks) m
03) (i) Build up a numerical expression for the following "Add three to five and multiply the
answer by two" (1'mark)
(ii) Nadun says, the answer is five for the question. 21-6 +3
Show that his answer is incorrect and explain the mistake he made while obtaining the
answer. | (2 marks)
(iii) Simplfiy.
(a) -~ 20+4-1 (b) 25+5x4+2
(c) » 5(6+2)-5 ' (d) 45+3-3x4 (2 x 2 = 4 marks)
04) (i) \:;:E The area of the shaded };art 1S STTThmZ. Find the area of the figure
- "“f:.ﬁ approximately. - (2 marks)-
{ﬁ};;:{; (ii) (a)  Find the area of a rectangle where length 20cm breadth
50cm? (1 mark)
(b)  Find the length of a side of a square with the same area
as the above rectangle. (2 ﬁmarks)
(1i1) There is a road of 2m breadth around a
rectangular land. The length and the breadth of
‘ sm the land is 20m and 8m repectively.
20m
(a)  Find the length and breadth of the land with the road. (2 marks)-
(b)  Find the area of the land with the rO;d. 1 (2 marks)
(c)  Find the area of the road. (2 marks)
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* (05) - Construct the following using mathematical instrument.

:_ (i) Draw a line segment AB of length 8cm. (1 mark)
=y (ii) Draw the angle A BC =120° - (2 marks)
'""!;- , (iii) Mark point C such that BC = 6.5 cm and complete triangle ABC. (2 marks)
§ e ‘(iv:) Draw a.line through C vertex parallel to BA, using the ruler and the set square.
(2 marks)
3 (v) Mark the point D on the parallel line 8cm away from the vertex C.
(D Situated on the same side of vertex A) (2 marks)
) (vi) Join A and D and measure and write the length of AD. (1 mark)
) (vii) What is the name of the figure obtained? ' (1 mark)
© (06) (i) A = {Prime numbers between 0 and 10
(a) Represent the above set using the other two methods. (2 marks)
| . (b)  "2is an element of set A". Is this true? (1 mark)
(ii) Write down the elements of the following sets as a list.
(@@ P = {Letters of the word "MAHARAGAMA"} |
(b) X = (even numbers] (2 x 2 = 4 marks)
Gi) T = {61218, 24) '
- Write t}:e set T in the description form.
(iv) (a)  Write the elements of the set R as a list. (2 marks)
__ _ (b)  Suggest a suitable name for set R. (1 mark)
O
G u R
07) (i) Find the value of (-6) + (+5) using the number line. (2 marks)
(i) (a)  Write all the possible ways that you can write 48 as a product of two factors.
' (2 marks)
(b)  Find all the factors of 48 using the above result. ' (1 mark)
§ (ifi) Find the highest common factor of 30, 24, 18 (2 marks)
' (iv) Simplify.
r _~.
::(ii) | (a) 2% + 1-;—) 4 (2 marks)
’ | (b) 5% —~ 2% | . . (2 marks)
! ok o K
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